
 

 

  INSTALLATION INSTRUCTIONS FORM NO. 82243 

1. Jack up the vehicle to allow the front upper/lower control arms to hang free, without weight. 
2. Remove lower skid plate. 
3. Remove the nut on the passenger side lower control arm bolt and remove the bolt. 
4. Install the supplied 5/8” x 4 1/2” bolt in the lower control arm assembly with the washer in between the cross-

member and new stabilizer bracket. 
5. Install the pass side cross-member bracket and tighten with supplied 5/8” nut. 
6. Install the cylinder with the supplied stem bushings, cup washers & nut on the stabilizer cylinder. Tighten stem hard-

ware. 
7. Install the stabilizer in the stabilizer bracket on the steering link and install the bushings, cup washers and nut.   
8. Turn wheels fully to the right and left making sure no interference occurs and cylinder does not bottom out. 
9. Recheck all nuts for tightness before releasing installation. 
10. Periodically inspect the assembly for tightness. 

This kit is only to be used with Rough Country 4”-6” lift #274S equipped GM 88-98 vehicle. 

Kit Includes: 
1-Stabilizer Cylinder 
1-Passenger Side Bracket 
1-Poly Bag 
 1-5/8” Spacer Washer 
 1-5/8” x 4 1/2” Bolts 
 1-5/8” Flat Washer 
 1-5/8” Nut 
 4-Stem bushings 
 4-Cup washers 
 2-Stem nuts 

Caution: Any and all warranties including but not limited to any express warranties, implied warranty of merchantability, 
or implied warranty of fitness for a particular purpose shall not apply to any product altered in any way outside the premises 
of the manufacturer or to any product which is not installed in accordance with the written instructions provided by the 
manufacturer for installation of the product. 

Place washer on bolt behind stabilizer bracket here 


